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— e+04 / — e+04 / — e+04 / — e+
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3000 ]
2000 ]
10001 C = 28.31 [pS/Ch 1
-
-
L 1
0 50 00

TP delay [ns]

75e+04 / 25

4220+ 0.0
4000 [p2  -se52:000
3000 - .
2000 L .
100 C = 27.39 [ps/ch 7
[ ]
-
- - E
1 1
0(,l 50 100

TP delay [ns]

TVC(c,b,ch)=(2,5,3)

31le+04 /25

4221+ 0.0
4000 jau ! [pr 3672+ 000
3000 1
2000 1
1000F C = 27.23 [ps/ch ]
-
-
-
1 1
% 50 00

TP delay [ns]
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[_TvCebech)=(2.6.0) Fie's] [_TvCebeh=(2.6.1) [Tets] [_TvCebehi=(2.6,2) [*o] [_TvCeb.chi=(2.6,3) [ioie
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1 1 - 1 1 - : 1 1 - 1 1 -
0 50 00 0 50 00 0 50 00 0 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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[_TVC(c,b,ch)=(5,10,0) J*=*/#1 | TVC(c,b,.ch)=(5,10,1) F=°=} [ TVC(c,b,ch)=(5,10,2) F***] [ TvC(c,b,ch)=(5,10,3) J"='>
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[_TVC(c,b.ch)=(5,12,0) J*'=1 | TVC(c,b,ch)=(5,12,1) ["=°*} [ TVC(c,b,ch)=(5,12,2) F=*] [ TVC(c,b,ch)=(5,12,3) J5'>
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